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THE TOTAL NUMBER OF POSSIBLE B5-CARD HANDS
1S :

52 Y 557
( 5 )"' s/(52-5,/ = 547/ = 2.598.900

THE NUMBER OF POSSIBLE 5-CARD HANDS THAT
ARE ALL HEARTS |S:

13 39 13/ 39/
( 5 )( 2 ) = %/8/ orass = 1,287
N,
(8 OF WaYS wmicH 5 HEARTS MAY B3E SELECTED FROM 13 HEAATS X

2 OF WAYS @ NON-HEARTS MAY BE SELECTED FROM 39 NON-HEAARTS.)

TeeN o(5-CARD HAND W/ EVERY CARD A HEART) =

1. 287
= 2.598 900

= 4,952 x|O
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d. p(BUD)= p(B) +p(D)=-p(B8ND)
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THE PROBABILITY QOF EACH QUTCOME |S
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THEN, FOR EXAMPLE,

plx=5)= o(X=5)= 4%

THEN :
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b, AND

P(x) 181
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¢ we= E{X} = T xp(x)

= 2(%e) + 3 (%) e 4(F) » 5(%H) +

+ 6(5"3_5)*7(%_5)-* 8 (%) + 9(%)

- 10(%&) - 11(:{3@) + 12(‘!3_5)

= 7.0000
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= 2 (x=mn) p(x)
“ 5. 8333

Cx = 2,41582
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4l a p(1es X<c<1,5)= P(1.5) - P (1)

« $(1.8) « TC1)

= O.25
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b p (X8 %)= (£) = Fe.
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c. p(X24)= p(4ex<w)m P(o)=-P(4)=1=-1=0,
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